








From the given alternative words, select the word which can be formed using the letters of 

the give word :

दिए गए वैकदपिक शब्िों से, उस शब्ि का चयन करें दिसे शब्ि के अक्षरों का उियोग करके  बनाया िा सकता 

है:

WINDIGITALLIFESTYLE

(1) WODISA

(2) INGAIL

(3) JOLLYNA

(4) LONGJUMP



Find the option which should replace (?)

T + J = 10 :: X + H = ?

(A) 22

(B) 32

(C) 24

(D) 16 



Find the odd one out(?)

(A)Broad : Wide / ब्रॉड: वाइड
(B)Light : Heavy /हलका : भारी
(C)Tiny : Small / टिनी: छोिा
(D)Big : Large / बङा : ववशाल



Q- What is the angle between the minute hand and the hour 
hand of a clock when the time is 9:30?

Q-समय 9:30 पर मिनट और घड़ी के घंटे के ब़ीच का कोण क्या होगा
?

(1) 100˚ (2) 90 ˚ (3)105 ˚ (4)None of these



Find the option which should replace (?)

6 : 24 :: 14 : ?

(A) 61  

(B) 75

(C) 131
(D) 65



Find the odd one  (?)

(A) 74 , 82

(B) 97 , 63

(C) 63 , 81
(D) 41 , 40 



Which number will replace the question mark ?

(A) 52 (B) 40
(C) 71 (D) 56
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Find the missing term(?)

RPU : TNS :: LDS : ?

(A) NIG

(B) NBG

(C) NBQ
(D) RIH



Find  the number of triangle (?)

(A) 38

(B) 24

(C) 23
(D) 42 



Find the missing term(?)

6 , 18 , 66 , ? , 1026

(A) 276

(B) 274

(C) 288
(D) 258 



Find the missing term(?)

Hitler : Germany :: ? : ? / हिटलर : जर्मनी :: ? : ?

(A) Shakerpear : England / शेकरपीयर: इगं्लैंड 

(B) Mussolini : Italy / र्सुोहलनी: इटली 

(C) Boris Yeltsin : Russia / बोररस येल्तहसन: रूस 

(D) Tulsidas : India / तलुसीदास: भारत





Find  the number of triangle (?)

(A) 38

(B) 14

(C) 13
(D) 12 



Find the missing term(?)

South : North west :: ? : Soth East

दहिण : उत्तर पहिर् :: ? : दहिण परू्म 

A. North / उत्तर

B. South East / दहिण परू्म 

C. West / पहिर् 

D. North West / उत्तर पहिर्



If today is Sunday then which day would be the 65th day after 

today ?

अगर आज रहर्र्ार ि ैतो आज के 65 र्ें हदन कौन सा हदन िोगा?

(A) Monday

(B) Tuesday

(C) Wednesday

(D) Sunday 



Find the missing term(?)

28 : 14 :: 172 : ?

(A) 11

(B) 13

(C) 15
(D) 14 



Find the missing term(?)

DF : 42 :: IB : ?

(A) 92

(B) 81

(C) 80
(D) 11 



Which number will replace the question mark ?

(A) 40 (B) 04
(C) 12 (D) 14

12 16 22

23 33 18

08 13 ?



Find the missing term(?)

AUSTRALIA : PARLIAMENT :: ? :  ALTHING

ऑस्ट्रेहलया : संसद :: ? : अलह ंग 

(A) Afghanistan / अफगाहनस्ट्तान

(B) Bangladesh / बांग्लादशे

(C) Iceland / आइसलैंड

(D) Israel / इज़राइल



Find the missing term(?)

Operation Blue Star : 1984 :: Bhopal gas Tragedy : ?
ऑपरेशन ब्लू स्टार : 1984 :: भोपाल गैस त्रासदी : ?

(A) 1992

(B) 1975

(C) 1984
(D) 1999



Find  the number of triangle (?)

(A) 64

(B) 72

(C) 66
(D) 70 



Find  the number of triangle (?)

(A) 16

(B) 14

(C) 13
(D) 12 



Find the option which should replace (?)

1 + 4 = 15

8 + 2 =  60

3 + 6 = 27

9 + 7 = ?

(A) 37

(B) 49

(C) 32

(D) 35



Find the odd one  (?)

(A) Y

(B) A

(C) I
(D) H  



In a clock time shows 2:30, if the accordingly  minute hand is at west 

than in which  direction is the hour  hand(?)

एक घडी र्ें सर्य 2:30 हदखाता ि,ै यहद तदनसुार हर्नट की सईु पहिर् की ओर ि ैतो 

घंटे की सईु हकस हदशा र्ें ि ै(?) 

(A) North East / उत्तर परू्म 

(B) North West / उत्तर पहिर् 

(C) South East / दहिण परू्म 

(D) South West / दक्षिण पश्चचि



Find the missing term(?)

(A) 6

(B) 8

(C) 5

(D) 4  
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Which of the following diagrams indicates the best relation
between Paper, Stationery and Ink ?
हनम्नहलहखत र्ें से कौन सा आरेख कागज, स्ट्टेशनरी और स्ट्यािी के बीच सबसे अच्छे संबंध को दशामता ि?ै

A.

C. D.

B.


